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BRHX3—2 BEYIVERAITHEEESINSEEICET HEIE(1/2) FEFE K28/
BRFRONE | Emes 012B1007 i 775 [ FElk | BRI Lo
AR O TIRICEET 51 2lERH A
Eﬁg TEZEORBRIBOBFEIENDKRES TREDHEBEFIENDKRES TEZORBRIBDBEIENDKES TREOHERFSENDKRES
&5 X 4 BE | Timd o0 B 730)7(253 R 4 THOSDKE [ HE ﬁwtéjé R 4 Bs | Limssats 7]0)7(%3 X 4 FHEMLDLE | B 730)7:-%%
(m) (m) (kN/ i) I8 (m) (m) (kN/mi) (m) (m) (kN/ ) (m) (m) (kN/ )
7 100kN/mM%E8Z%5 | 1.00 | 000 ~ 202 131.46 |3mEBZ 3 - ~ — — — | 100kN/M&# 2% | 1.00 | 1055 ~ 1810 131.46 |3mEEZS - ~ — — —
zhils 1.00 | 202 ~ 982 100.00| Ths | 000 ~ 982| 241 1218 zhst 1.00 | 5,00 ~ 1055| 100.00| Fhs | 500 ~ 1810| 2.41 12.18
2 100kN/mM%E#8 %% | 1.00 | 000 ~ 280 144.18 |3mEBZ 3 - ~ — — — | 100kN/m#zEEZ5 | 1.00 | 1069 ~ 2726 144.18 |3mEEZB -~ — — —
zhust 1.00 1280 ~ 58| 100.00 | Fhst | 0.00 ~ 1053 2.93 14.82 zhst 1.00 | 5.00 ~ 1069| 100.00 | Thds | 500 ~ 2726 293 14.82
3 100kN/m%E#Z5| 1.00 | 000 ~ 370 160.05 |3mEBZD| 0.00 ~ 048 | 3.27 16.50 | 100kN/mZ#z25 | 1.00 | 1063 ~ 3810 160.05 |3mZ8ZB| 2500 ~ 3810 3.27 16.50
zh st 1.00 1 370 ~ 149 100.00 | Fhsk | 048 ~ 1149 3.00 15.16 zhilst 1.00 | 5,00 ~ 1063 100.00 | Fhs | 500 ~ 2500| 3.00 15.16
4 100kN/mZEBZ5 | 1.00 | 000 ~ 373| 160.51 |3mEBZD| 000 ~ 139 368 18.62 | 100kN/mM%E#B25 | 1.00 | 1053 ~ 4506 | 160.51 |3m&EEZB| 2500 ~ 4506| 5.68 18.62
zh st 1.00 | 373 ~ wus| 100.00 | Thds | 1.39 ~ 1151 3.00 15.16 zhilst 1.00 | 5,00 ~ 1053 100.00 | Fhs | 500 ~ 2500| 3.00 15.16
5 100kN/mMZE#BZ5 | 1.00 1000 ~ 378\ 161.40 |3mEBZS| 000 ~ 156 | 381 19.26 | 100kN/m%#Z5 | 1.00 | 1068 ~ 4021 161.40 |3mEBZ 3| 2500 ~ 4021 | 3.81 19.26
zh st 1.00 | 378 ~ wus| 100.00 | Thdst | 1.56 ~ 1156 3.00 15.16 zhilst 1.00 | 500 ~ 1068 100.00 | Fhs | 500 ~ 2500| 3.00 15.16
g 100kN/mZEBZ5 | 1.00 | 000 ~ 373| 160.61 |3mEBZD| 000 ~ 149|376 19.01 | 100kN/m%E#Z2% | 1.00 | 1060 ~ 4001 160.61 |3mEBz23| 2500 ~ 1001 | 376 19.01
zh st 1.00 | 373 ~ wusz| 100.00 | Thds | 1.49 ~ 1152] 3.00 15.16 zhilst 1.00 | 5,00 ~ 1060 100.00 | TS | 500 ~ 2500] 3.00 15.16
7 100kN/mM%EBZ%5 | 1.00 | 000 ~ 206 132.03 | 3mEBZ D -~ — — — | 100kN/m#zEEZ5 | 1.00 | 1067 ~ 1830 132.03 |3mEEZB - ~ — — —
ZFhilst 1.00 | 206 ~ 985 100.00 | Ths | 000 ~ 985| 217 12.48 zhst 1.00 | 500 ~ 1067 100.00 | Fhs | 500 ~ 1830 2.47 12.48
8 100kN/m% 25| 1.00 | 000 ~ 187 12874 |3mEBZD -~ — — — | 100kN/M%&#z2% | 1.00 | 1062 ~ 1720 12874 |3mEEZ S - ~ — — —
ZFhilst 1.00 | 1.87 ~ 965 100.00 | £hst | 000 ~ 9.65| 245 12.38 zhsth 1.00 | 500 ~ 1062| 100.00 | FThs | 500 ~ 1720| 245 12.38
9 100kN/mM%E#BZ%5 | 1.00 | 000 ~ 181 127.88 |3mEBZ S -~ — — — | 100kN/MiZE#Z2% | 1.00 | 1064 ~ 1770 127.88 |3mE#Zi% -~ — — —
Zzhilst 1.00 | 1.81 ~ 960 100.00 | Fhs | 000 ~ 9.60| 229 11.62 zhsth 1.00 | 5,00 ~ 1064| 100.00 | Fhls | 500 ~ 17.70] 2.29 11.62
10 100kN/ Mm% 25 — - ~ — —|3mZEBZS - ~ — — — | 100kN/ Mm%z 3% — - ~ — — | 3mZEB 2D — ~ — — —
Zhilst 1.00 | 000 ~ 669 84.54 | #his [ 000 ~ 000| 1.64 8.30 Zhsth 1.00 | 5.00 ~ 840 84.54 | £hos | .00 ~ 810 1.64 8.30
11 100kN/mMZEBZ%5 | 1.00 | 000 ~ 0.02 100.31 |3mEBZ S -~ — — — | 100kN/Mi&#2% | 1.00 | 1114 ~ 1120 100.31 |3mEEZS -~ — — —
Zhilst 1.00 | 002 ~ 781 100.00 | #hs | 000 ~ 781 202 10.27 Zhsth 1.00 500 ~ 1114| 100.00 | Fhs | 500 ~ 1120] 202 10.27
192 100kN/ Mm% Z % — - ~ — —|3mZEBZS - ~ — — — | 100kN/ Mm%z 3% — - ~ — — | 3mZEBZD — ~ — — —
Zhilst 1.00 | 0.00 ~ 628 78.94 | RS | 000 ~ 000 1.63 8.26 Zhsth 1.00 | 5.00 ~ 7.60 78.94 | #hS | 500 ~ 760 1.63 8.26
13 100kN/ Mm% Z % — - ~ — —|3mZEBZD - ~ — — — | 100kN/m%E#8Z 3% — - ~ — — | 3mZEBZD — ~ — — —
zh st 1.00 | 0.00 ~ 736 93.88 | #hUs | 000 ~ 000|175 8.86 Zhst 1.00 | 5.00 ~ 9.50 93.88 | #hist | 5.00 ~ 950 1.75 8.86
74 100kN/ Mm% B Z % — - ~ — —|3mZEBZS - ~ — — — | 100kN/m%E#8 2z 3% — - ~ — — |3mEBZS - ~ — — —
zh st 1.00 | 0.00 ~ 721 91.69 | #Fhds | 000 ~ 000 1.72 8.69 zhst 1.00 | 500 ~ 9.19 91.69 | This | 5.00 ~ 919 1.72 8.69
15 100kN/ Mm% Z % — - ~ — —|3mZEZB - ~ — — — | 100kN/mM%E#8 2z 3% — - ~ — —|3mEBZD - ~ — — —
zh st 1.00 1000 ~ 710 90.25 | #Fhs | 000 ~ 000\ 1.71 8.63 zh st 1.00 | 5.00 ~ 9.00 90.25 | #Fhbs | 500 ~ 900 1.71 8.63 |
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= = S 3 N & B S 3 N F| 5 = THHVE = AN = | =
55 X 4 .aé; Thb(z)@ﬂﬁﬁﬁ 73(&3(33 X 4 Tjﬁﬁééﬁfﬁ .Z.n*f 73(&3(33 R 4 .(:.—r,na; J:iﬁﬁ?ﬁ(z)o)ttﬁ jj(giljcm%)é R 4 J:iﬁﬁ?ﬁ(:)o)ttlal .(:.—.m'c)k ﬁgﬁlicm%)é
16 100kN/mM%E8Z%5 | 1.00 | 000 ~ 080 112.00 |3mEBZ3 - ~ — — — | 100kN/M&# 2% | 1.00 | 1125 ~ 1420 11200 |3mEREZS - ~ — — —
zhils 1.00 1080 ~ 859 100.00| Ths | 000 ~ 859|202 10.21 zhst 1.00 | 500 ~ 1125| 100.00 | FThs | 500 ~ 1420| 202 10.21
17 100kN/m%E#8 %% | 1.00 | 000 ~ 1.10 116.51 |3mEBZ3 - ~ — — — | 100kN/M&#2% | 1.00 | 1085 ~ 1470 11651 |3mEREZS -~ — — —
zhils 1.00 | 1.10 ~ 888 100.00 | £hs | 000 ~ 888| 206 10.47 zhst 1.00 | 500 ~ 1085| 100.00 | Fhis | 500 ~ 1470| 206 10.47
18 100kN/mM%EB %25 | 1.00 | 000 ~ 145 122.13 |3mEBZD - ~ — — — | 100kN/M%&# 2% | 1.00 | 1067 ~ 1590 12213 |3mE#Z 3 -~ — — —
Fhils 1.00 | 1.45 ~ 924 100.00 | £hs | 000 ~ 924|229 11.58 zhst 1.00 | 500 ~ 1067 100.00 | Fhls | 500 ~ 1590| 2.29 11.58
19 100kN/mM%EBZ%5 | 1.00 | 000 ~ 0.73 110.83 |3mEBZ D -~ — — — | 100kN/MZ&# 2% | 1.00 | 1072 ~ 1300 110.83 |3mE#EZ% - ~ — — —
Fhils 1.00 1078 ~ 851 100.00 | #hst | 0oo ~ 851|210 10.59 zhst 1.00 | 500 ~ 1072 100.00 | Fhls | 500 ~ 1300| 210 10.59
20 100kN/mM%EBZ%5 | 1.00 | 000 ~ 1.39 121.06 |3mEBZ3 -~ — — — | 100kN/m#zEEZ5 | 1.00 | 1063 ~ 1510 121.06 |3mEEZB - ~ — — —
Fhilst 1.00 | 1.39 ~ 917 100.00 | £hs | 000 ~ 9.17| 236 11.94 Thst 1.00 | 500 ~ 1053 100.00 | FThis | 500 ~ 1510| 236 11.94
21 100kN/ Mm% 25| 1.00 | 000 ~ 147 12238 |3mEBZD -~ — — — | 100kN/MZ&#Z2% | 1.00 | 1054 ~ 1550 12238 |3mE#Z% - ~ — — —
Fhils 1.00 | 147 ~ 926 100.00 | Ths | 0.00 ~ 926 235 11.89 zhst 1.00 | 500 ~ 1054 100.00 | Fhs | 500 ~ 1550 2.35 11.89
29 100kN/mM%E#BZ%5 | 1.00 | 000 ~ 111 116.66 |3mEBZ3 -~ — — — | 100kN/m#zEEZ5 | 1.00 | 1064 ~ 1400| 11666 |3mEEZB - ~ — — —
ZFhilst 1.00 | 1.11 ~ 889 100.00 | Ths | 000 ~ 889|217 10.95 zhst 1.00 | 500 ~ 1054 100.00 | FThs | 500 ~ 1400| 2.17 10.95
23 100kN/mM%EBZ%5 | 1.00 | 000 ~ 086 112.94 |3mEBZ S -~ — — — | 100kN/MiZ&#z2% | 1.00 | 1088 ~ 1380 112.94 |3mE#EZS - ~ — — —
ZFhilst 1.00 | 086 ~ 865 100.00 | £hst | 000 ~ 865| 206 10.44 zhsth 1.00 | 500 ~ 1088| 100.00 | Fhis | 500 ~ 1380| 206 10.44
24 100kN/mMZEBZ5 | 1.00 | 000 ~ 259 140.74 |3mEBZ S -~ — — — | 100kN/MiZE#Z2% | 1.00 | 1064 ~ 2390 140.74 |3mEEZ S -~ — — —
zh s 1.00 259 ~ wss| 100.00| Thst | 0.00 ~ 10338 2.62 13.25 zhsth 1.00 | 500 ~ 1064 100.00 | Fhs | 500 ~ 2390| 2.62 13.25
25 100kN/mMZEBZ%5 | 1.00 | 000 ~ 225 135.05 | 3mEBZ S -~ — — — | 100kN/MZE#Z2% | 1.00 | 1111 ~ 2413 135.05 |3mE#EZ5 -~ — — —
zh s 1.00 | 225 ~ 1003 100.00 | s | 000 ~ 1003] 252 12.74 zhilst 1.00 | 500 ~ 1111 100.00 | #hls | 500 ~ 2413| 2562 12.74
2 100kN/mM%E#BZ%5 | 1.00 | 000 ~ 1.70 126.04 |3mEBZ S -~ — — — | 100kN/m#zEBz5 | 1.00 | 1070 ~ 1730 126.04 |3mEEZB -~ — — —
Zhilst 1.00 | 1.70 ~ 948 100.00 | Ths | 000 ~ 948 227 11.53 Zhsth 1.00 | 500 ~ 1070| 100.00| Thds | 500 ~ 1730| 2.27 11.53
27 100kN/MZz#z25 | 1.00 | 000 ~ 142 121.66 |3mE#EZB| — ~ — — — | 100kN/mi%E#82% | 1.00 | 1059 ~ 1550 121.66 |3mEBZ3 - ~ — — —
Zhilst 1.00 | 142 ~ 921 100.00 | Fhs | 000 ~ 921 231 11.72 Zhsth 1.00| 500 ~ 1059 100.00 | Fhs | 500 ~ 1550| 2.51 11.72
29 100kN/mMZE#B25| 1.00 1000 ~ 093\ 11397 |3m&BzB| — ~ — — — | 100kN/mi%Z8BZz2 | 1.00 | 1079 ~ 1390 113.97 |3mEBz3 - ~ — — —
ZFhilst 1.00 093 ~ 872 100.00 | Ths | 000 ~ 872|208 10.52 zh st 1.00 | 500 ~ 1079 100.00 | Fhs | 500 ~ 1390 2.08 10.52
29 100kN/ Mm% B Z % — - ~ — —|3mZEBZS - ~ — — — | 100kN/m%E#8 2z 3% — - ~ — — |3mEBZS - ~ — — —
Zhlst 1.00 | 0.00 ~ 557 69.58 | #hds | 000 ~ 000 | 1.62 8.16 zhst 1.00 | 5.00 ~ 6.40 69.58 | FhUS | 500 ~ 6.40 | 1.62 816
100kN/ Mm% Z % ~ InEHBZD ~ 100kN/M%EBZ5 ~ ImEHBZD ~
zh st ~ zh st ~ ZznLst ~ zh st ~
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